TI'@?T UehdT hT SehTACT T TeARTehIOT (SOLUTION TO THE PROBLEMS OF INTEGRATION)

SEIT TehdT &1 Hel 3R g TS 3 TSE TeheT ht HATIT T 36 TS Hoelatl | TS M 31
g - Ueh UaET e TR, Ueh Al Tclell, Ueh HIATICH SehTS, Teh 3TTeTcd 2l $Tae1T | SET Yh Tl
BT FHAT T 7T, U-G: T A THTA IS 3R T FHETT o TR & Uiy A1aATcHh foser ot
g & ol H T e & | TR @iaern & A3t « fauesry ygfat I dud gu ared
eI AT ol TUTIAT T AT Faa 2T UehelT 3R HaToT & T A ST 3R, o] TR Tt &
fAHTOT & w1 TR fAvAdT 3e 3B & FdlT TWHR F 30 Y Foaetdl & aR H
YATTIR T 3G el o | HIN-hell grefleh 3egedi & fav il Q=i deh 1 T
A BT Al I ggdr AR FAEeT F GRT TG o 37T 3T TSE ThdT & AT H A
gree g1 O d). . 3R, Y. U9 oEd 8, "9Rd 7 AR e IS 3R drarcAs ThieaoT
Sl FAEIT & S8 3TN o7 AR X b §, We S AT FT1 g1, Tg TS g
gl HARA & ITSET TehdT 3R HTATcHS Tehie 0T &l T & foIw Far fhar e anfge? 3&
Pled HY AR FT ? Tg W 9o & o0 W agd a9t & I &, e 319 I i faRaa
3 G Aol Fel § 3N A & 0l S AEgd va TaeeHs Aifd & 9o @l § S fharfead
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(1) GATST & @ AT H AA-SHGEAT H G §l— W &l PSR & 38R, "HRA o4
AT 2T H 18T 5dar AfaYr yepR & 9T W &, TehdT I TATTAT SHT & & ohal g [,
T dcdl T Totelifae TaT T JSER & 07 A Sv 3R gadr arg JHT Iol S0 9%
foT I & &6 A & 99 Jelf # Tofeiifade TEAT & 9T & | TStiiad $ 37 ITeAlcHAS
HIAST { & THHOT T Ygiad & gof Aerar §1" I Far 3R ToEia 7 T & a1 ar
o It @ 3T IR THAFER glm aF AfRad & 3=g ot 7 fawren 3Rk srerEma
HIEAT3cTeT 8RN TATS & fAfaY gt & Teeifas afal_’fe & digar gem 3k geafas
TEATHT P AT H Hellelr gHRI| ITUFHR

(2) HgPRT FEATG T AATT—HRA T ATl cTaedqT H AT T Tolelid W & 3ayT
el fear e e 3R Tererd Ise & AHOT & fow s uefe sersar i afed ik
3T T TATCHS &I1 @ T fohall SIier =MgT| a&dc: g7 FesicHs 3R gfdeacurcas
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